Mathematics
1. The speed limit in France on normal two lane roads is 100km/hr.
a) What is this in mph?
b) The speed limit in the UK on normal two lane roads is 60mph.  What is this in km/hr?

	






	


2. Triangle ABC is an enlargement of triangle XYZ.  
a) Calculate the length of AC.

b) Calculate the length of YZ.
3. A grandmother left some money to her two favourite, and best behaved, grandsons to be shared out in the ratio of their ages.  The grandsons are 15 years old and 24 years old.
a) If the 24 year old inherited £1000, what did the 15 year old grandson inherit?
b) If the 15 year old grandson inherited £600, what did the 24 year old grandson inherit?

4. In a sale, suits are reduced by 37.5% so that only 62.5% of the original price is paid.
a) If a suit cost £100 originally, what is the sale price?
b) If the sale price of a suit is £60, what was the original price?
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